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b. 1 point for answer; 1 point for
reasonable work
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6.G.2

SELECTED RESPONSE 3. 1f 300 cubes can fit in the rectangular
Select the correct answer. prism below, what is the edge length of
1. Whatis the volume of the each cube?
rectangular prism?

® m} in?
7
® 285 in’ 11
8 11,
) @ 4 w0
© 52t
2 Select all correct answers.
© 1443 in® 4. Which dimensions describe a
B rectangular prism with a volume of

2 3 cubic units?
2. Abrick has a length of 2 cm, a width of 50

2, 13
g em, and a height of 1 cm. How many @ 5 unitx 5 unit x 2 unit
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CONSTRUCTED RESPONSE

5. Use the formula for volume V = twh to
find the volume of the rectangular prism
‘shown. Show your work.

7. A homeowner wants to construct a tank
in the shape of a rectangular prism to
collect rainwater runoff from her roof. The
homeowner would like to hide the tank in
a space under the deck between the

supports. The space is. 2% ft wide by
12 ftlong by 3%!{ high.

a. If the tank is constructed using the
entire length and width of the space,
how high must the tank be in order to
hold 50 ft* of water? Show your work.

6. How many cubes with side length % m

would fit inside the rectangular prism
‘shown below? Show your work.

b. If the tank is constructed using the
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entire length and height of the space,
how wide must the tank be in order to
hold 50 ft* of water? Show your work.
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6.G.2 Answers

1.0
2.c
3.c
4.ADE
5. V=twh

ot

1 point for answer; 1 point for work using
the formula

6. Find the dimensions of the prism in
terms of the number of cubes with side

1
length 5 m.
1.1.13.2
65+5=7 " 7= 13cubes

=3cubes

The prism is 13 cubes by 8 cubes by
3 cubes, 50 13 x 8 x 3 = 312 cubes fitinto
the prism.

Rubric

1 point for answer; 2 points for
‘appropriate work

7.a. V=twh

1
50712(25}11

s0=12 2 |n
2

50=30h

3°h

‘The tank must be |§ t high,

V=twh

50:13«[33}
2

15
50:13«[7]
50=45w

‘The tank must be 1% t wide.

Rubric

a. 1 point for answer; 1 point for
reasonable work




